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1.3
M
(1)8 A= #EELA BEAM. %) (2)1~8FE#E (A&, 8HH. %)
B = |mERgk| £ 8 |wERSE | [10/160k #H 2 |wERgk] € 28 |ssRme
SUUEE 8,041 85.0 858 491 SUUEE 59,744 65.1 9,039 51.8
REEMAILUE 5130 1404 230 125.7| |xmEmsroet| 29,011 87.2 1,303 82.9
TERIDUE 2,911 50.1 628 40.2| |=x#ms | 30,733 525 7,736 48.7

D 8AMIL AEEIL. TRERIIE5,1304 . 2308 FHT. BTEREALL140.4%(E %) . 125.7%(£%8).

[TEMAIF29114 ., 628EAMAT. BIERLILL50.1%(E ). 402%(E 8B THD.,

BIERINREASE TTERAIE. — RS EFERLE I DFIEREILE30.9% (B3 . 36.7% (£3%8) .

[AYEE1HY69.1%(E %), 59.7% (£ Z8) . [ZD1h 11X50.1% (B%#0) . 38.5% (£%8) TH 5,

@ BALTI. TRERIZE$TIS7.9%. £46T152.3%.
TTERHIIXE$T9%.3%., ££ETI121.2%TH 5D,

[# H ) Hhisk Bl & B =45 (8 A) (BfE, FH. % BREETD)
REMY BT RIFALL TERYY FIE B & &t FIEE B
HE | 28 uE £%8 HE £% uE 28 | %= £%8 HE | 24
R7O7 0 0 = = 1,170 328,945 58.2 46.8 1,170 328,945 58.2 46.8
RE7I7 6,173 17,918 153.1 213.5 1,420 174,922 491 26.0 7,593 192,840 109.6 28.3
=Bl ] 17,921 72,329 109.8 93.8 1,217 12,143 266.3 197.2 19,138 84,472 1141 101.5
J—Aw/N 2,608| 124,109 165.9 1971 832 120,739 46.7 46.5 3,440 244 848 102.6 75.9
K 1666 102.428] 3735 1643 397] 77,009 48.2 315] 2063  179437] 1626] 585
T 0 o] - - 11 go3[ - = 11 893 - =
EZRES 0 0 = = 10 13,348 250.0 549.3 10 13,348 250.0 549.3
77Uh 50 553 - = 260]  39,946] 2.166.7] 15063 310 40,499] 2.583.3| 15271
REM 180 8,384 = = 0 0 = = 180 8,384|18,000.0] 1,931.8
& &t 28,598| 325,721 127.8 154.3 5,317 767,945 66.6 40.6] 33,915 1,093,666 111.7 52.0
BIAL 88.9 152.3 = = 121.6 160.4 = = 92.8 157.9 = =
Hh ik Al g H 245 (8 H) (HEA. T % BRaET)
RERY FIEERIBALL TERTY BIE B & &t BIEREL
HE | 2@ 0E £5 0E £5 0E £ | HE £5 WE | 2@
Y Ty 0 o] - = 585 153554] 235 30.0 585  153554] 235| 300
2.5 & 0 0 = = 720 220,228 55.6 38.9 720 220,228 55.6 38.9
3. 4 E= 0 o - - 364] 101,868] 629 918 364]  101,868] 627] 915
4. AN 1666 102428 3735| 1643 397]  77,000] 482 315| 2063]  179.437] 1626| 585
5 RrF LA 1,187 2,585 266.1 41 7 3,704 0.9 15 1,194 6,289 941 2.1
6. K4V 2,120 101,911 158.9 165.7 322 47,399 419 63.2 2,442 149,310 116.2 1094
7. 7S5 0 0 = = 145 29,857 33.6 31.7 145 29,857 33.6 31.7
8 7SOEEE®EH| 17915 72069 1101 94.6 1217|  12.143] 2675| 212.1| 19132 84.212] 1144 | 1029
9. kO 0 o - = 65 5,667 116 8.1 65 5667] 8.1 7.9
10.4 > K 0 0 = = 75 11,292 63.6 34.7 75 11,292 63.6 34.7
it (FDihE) 28,598| 325,721 127.8 154.3 5,317 767,945 66.6 40.6 33,915 1,093,666 111.7 52.0
2 it 178,003( 1,599,142 96.0 92.3 47960 7,650,655 571 38.2| 225,963 9,249,797 83.8 425

MBR5E |
(1)8AE# (BELA BEAM. %) (2)1~8FEE (BALA. BHAH. %)
# 2 |wmERfik| £ 5 |seRgk # B |mERgik| £ 2 |[sERfik
UUAE 9,486 704| 1,118 496( | S &5 | 81,706 67.1 11,142 53.1
RERAIVE 5,150 139.6 234 121.9| |REBz V]| 28,990 87.2 1,301 83.3
TRV 4,336 443 884 429] |T#mzL U] 52,716 595 9,841 50.7

@D 8AMILUERGEIL. TREMII5,1504 . 234EHFHT. BIERIEALE139.6% (%) . 121.9%(£%8).

TTZMA 1343365 . 884EHHT. AIFERIEALL44.3% (B 5. 42.9% () TH D,

WREANREADE TTER T, - KRS ERAREIAAIERHILE32.8% (FH) . 55.6% (L) .

FAL)#& 15339.6% (5 ). 40.0% (£&E) . [T D1t 11348.3% (B4 . 43.1% (£58) TH 5,

@ BALTIE. TRERIEE$TI55.9%., £56T144.4%.
[TEAIXEET685%. £XETI127.2% TH D,

KIRGLISAIEDI S5 E£5 I G100 E

D sAMDEMEIE. THKEM1X28,59845 . 325,721 FHT. BIERIEALL127.8% (& %), 154.3% (& 58).
TTEA1E53178.767,945F T, RIERIHILL66.6%(E %), 40.6%(£E)TH 5.
BTALETIE. TRERIITE$T88.9%. £58T1523%. [ TEAIITE#TI121.6%. £%8T1604%TH D,

Q@ EANOBMETIX. IRERIIEZEDI7A)DILFIERBILLE373.5% (B ). 164.3% (L5 TH D,

[TERIEEFEERDIOUAHR—ILIAFTIEREILL23.5%(E %), 30.0%(£%8),
ThEIARIEREILL62.9%(E ). 91.8%(£%8). [7AUH A BIEREALL48.2% (5 . 31.5% (£%8).
[EFBAINFIERRILE55.6% (5. 38.9%(£%8)TH 5,




LN ERIEAEE(8A) (BAA. FM.%. BREEP)

RERIVY RIEREL TERAVY RIERELE =1 it RIERELE
8 = & %8 H = & % 8 = & %8 8 = & %8 #® = & %8 ® = & %8
1. " ++ L] 42618] 415,705 2055 204.1 105 9,580 39.3 536] 42,723] 425285 203.4 192.0
2.1 [E 42,042] 303,439 125.0 322.1 483 47,640 23.2 36.2] 42525/ 351,079 119.1 155.5
3.8 & 22500] 318,613 185.3 165.9 208] 32,850 71.2 75.4]  22,708] 351,463 182.6 149.2
4.4 A 11,830] 71,801 772.7 397.1 0 of - - 11,830 71,801 7727 397.1
5 K4w 0 of - - 0 of - - 0 of - -
6. F £ 0 of - - 0 of - - 0 of - -
7.7 A A 0 of - - 0 of - - 0 of - -
8 447 0 of - - 0 of - - 0 of - -
9. R L ¥ — 0 of - - 0 of - - 0 of - -
10. A R A > 0 of - - 0 of - - 0 of - -
&5 (Z0ta)| 118,990] 1,109,558 174.9 217.7 796] 90,070 29.7 40.1] 119,786 1,199,628 169.4 163.3
HiH 60.8 84.9 - - 97.0 g29l - - 61.0 gagl - —
2 it 887,422 6,799,012 169.4 147.0] 10,659 949,091 29.7 46.1] 898,0817,748,103 160.5] 115.9 (& A ERI#WMAZEFGBAH) (BT, %)
XIELLIZRTEDT &5tE4E L1040 E REMAIS | TERIS &t F=7nan- v B
& = 0 0 0 0 0
D sEMDEAIXIRERI1X118,9907& . 1,109,558 FH T, BiEREALL174.9%(E$0). 217.7%(£%8) ThHb. th 5418 58,640 679 861 1,540
[T%MA11E796&. 90,070 FH T, BIERHEALL29.7% (B %), 40.1% (&%) TH D, & & 75,140 47,047 492 627 1,119
ERDEEEREHDE TRER IR LINEETI5.8%, £FT37.5%. % & 0 0 0 0 0
[EEINEHTI89I%., £XET28.7% TH D, AL 808| 112,652| 57,870 355 58,225
[TEAIFTFEINEET60.7%. £EET52.9%. [E8Z INEET26.1%, £58T36.5% TH b, 2 4 0 691 0 0 0
SUAR—IL 0 1,220 0 0 0
@ BIALTIE. TREMIIEAET608%, £ T84.9%., [ TEMIFEHTI.0%, EETI29%TH5. 44;'; 8 8 7‘8 g 7‘8
KA 0 0 0 494 494
0.5 & AR 314 437 0 0 0
8§ H Hh ik Al Eg HH =4S (8B) (B4 FM. %, HRILMG L 0 0 0 0 0
xERBE]  RIE TERI UBE A ot e T we 157 0 0 0 0 0
RELVED| B |[KEVr-2]| A% zoi | & 5 | Ay RIHA L ‘ R 7 A)H 0 1,130 0 207 207
"7UTF 22,527 1434] 17,853 125237 99,077] 242,167 570 21,549 745 of - B3 (FOME) 81,680 222659] 59751 3,228 62,979
RE7UT 10,002 4145 5893 33451| 54493 93837 34.0 7,541 17.0 of - B4 FH L 148.5 475 83.8 35.6 78.4
5 R of - 559 987 2,224 3,770 46.8 - - BIE 111.3 82.6 98.1 25.8 85.8
3—Oun 832 3328 3,414 9569 24,169] 37,152 61.2 449 84.6 of - 2 & 480,222] 2,757,626] 550,043] 55883 605,926
i % 1,069 59.1 4,311 9201 44080 57592 56.7 4,603 401.3 of - B RHIL 90.4 52.0 75.1 50.0 71.8
SIS of - 0 393] 24089 24482 74.9 of - of -
S of - 276 2,380 6,538 9,194 65.2 324 150.0 of -
715 0 _ 0 1.289 4,848 6,137 1272 0 — 0 _ D 8AMERSEAIXIRERIVE S 1H81,680FH. T TERAILEPE 1H222,659FH.
REM 0 - 0 0 372 372 15.8 0 - 0 - [§t1 AY 59,751 FA., T—TIIL R UH/\—1H33,228FH.
& &t 34,430  163.1] 32,306] 182507| 259,890 474,703 51.3] 34,466 45.9 o - BIERBLE CIETRER M1485%., [ TEA1H475%. [4+15383.8%.
BT 4F A LE 163.1] - 61.5 64.1 44.2 513 - 459] - 00] - [F—T I RUVHN—1H35.6%TH5,
BiA L 1308] - 101.6 1224 120.8 1198 - 65.8] - - -
_2 & 169,598 74.8] 302,518] 1,498,816]2,680,615| 4,481,949 527 548314 58.8] 10,403 30.4 @ FIALTIE. TRERIA111.3%. [T 2R 15582.6%. [415598.1%. [T—T LR U S— 1H8
AT 4 [ 4 L 748] - 70.2 55.2 50.0 52.7 588] - 30.4 - 9589 T 2.

S ER24E1 B DD [T LRUAN— o NTIE. REREBRA >IN EIRD S B I=H 7=,
@D sEDE R X RERIERGHIM34430F M. [ TEAIS UE R IN474703F ., T8+ 15H334,466FH .
BIERALL TIEIRER1IN163.1%. [ TEA1H51.3%., [$11545.9% TH 5,

@ BIALTIE. TRER1H1308%. [ TER1H119.8%. £} 15%65.8% TH 5,



RERIVUDEE, G, EESH(AR) (19/1~12,20/1~)
B B5.%
B | 1918 2 38 48 5H 68 7B 88 98 108 | 118 128 | 2018 28 3H 48 58 6 H 78 88 98 108 | 11 | 128
wmEasm| 4304 57126] 4120 4114 3644 4050 4274] 3655 4483 3994] 3999 3,704 3,625 4121 3026] 2978 2800 4083 3248 5,130
X BTEE L 9.7 75 0.1 29 127] -114] -108] -234 -48| -215] -100[ -192| -158] -196| -266| -276| -232 08 -240 404
BREa#| 4197 50471 4358 4132 3457 4229 4129 3688 4636 3881 4,058 3,681 3632 4119 3102 2872 2826 3986 3,303 5150
X BT L 10.2 35 7.3 16 6.1 -6.1| -150] -23.7 -47|  -206] -11.9 -190] -135| -184| -288] -305| -183 -57] 200 39.6
HEESH 337 416 179 161 348 169 314 282 129 242 184 207 200 202 126 232 206 303 248 228
RBTEL|  -347 17l  -616 -596 -65| -61.1] -158 -87| -173] -318 -5.2 -100[ -407| -514] -296 441  -408 793 -210[ -19.1
REAIVVDEE. RFEE
= 4¢=)
6,000
5,000 |
4,000 | . CoOXEEERS
3,000 | - ——RFEEH
2,000 |
1,000 |
1918 3R 5H 7H 9R 118 20.1 8 3R 58 78 9R8 118
REAIVVDEE. RFEEH SAAIERAL
%
60
40 .
COAEES
20 ——REE
0
20 108 118
-40




RER
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DUNEE.RFTEEFEAR) (19/1~1220/1~)

BEi-BHAME. %

#m E [1918 | 2R 38 48 58 68 78 8H 9F 108 | 11B ] 128 [ 2018 ] 2A 38 48 58 68 78 8H 9R 108 | 11B [ 128
SR 207 238 189 168 181 186 220 183 214 191 183 164 152 191 134 137 125 183 151 230
XTI L 3.0 9.2 -55 -6.7 191 -195 52| -228 97| -268] -253] -223| -266| -197] -201] -185] -309 -16| -314 25.7
e ] 191 220 228 171 146 218 196 192 239 173 192 160 153 191 147 117 130 167 162 234
XTRT4E L 6.7 -8.3 232| -100 -7.6 00| -190| -197| -105| -235| -202| -227| -199| -132| -355] -316] -110] -234] -173 21.9
=8E(EHEHFM) REAILUDEE. RESHE
300
250
200 | P —r
e —— =S
150 g RSt &%E
100
50 |
19.18 3R 5A 78 9A 11H 20.1H 3R 5A 7R 9A 118
% REAIVVDEE. RFTE% SNAIERAL
40
20 B |—|
3= N 7S VR N U —— B =72
19.1ﬁ\244 13'_ﬁ| = z ﬁ ‘T_ﬁl B A 0 1 12H 8H 98 108 118 128 |—*REE£&E
_20 L o
-40




RERILUOEEERH. £ (AR) (19/1~12,20/1~)

BEi-BAA. %

1 & [ 1918 24 34 4R 5A 68 78 8A 94 108 | 11A [ 128 | 20.1H 2R 3H 4H 5A 64 78 8H 98 10A | 11A [ 128

a 19,536] 23,536] 22,303 22,332] 21,998] 26,031] 27,388 22372 21,191] 23,910] 23,047 26,554 21,957] 17,241] 20,390 18,634 14,056] 24,954] 32,173] 28,598

X AT L -7.7 47.6 25.9 -9.9 -1.2 25.9 63.0 39.8 6.1 4.0 -0.6 15.0 124 -26.7 -8.6 -16.6 -36.1 -4.1 17.5 278
& %8 171 250 282 210 181 155 272 211 196 233 207 185 206 208 182 135 101 227 214 326
wEiat] 69|  s01] 881 216] -170] -340] 281 69| -264] -157] -114] -160] 204] -166] -352] -350] -443] 466 -214] 543
B8 (8) FREFIS L % TEEHM)
= = =~ > =
33 600 REASLUOBEEHR. 4 s
30,000 | /; 1 300
25,000 | /\ — 7<\ - H a1, 1 250
— — - \_ M —
20,000 | 7/ T\* / S D P e g IR vy a 1 200
15000 f Bd L, 1 150
10,000 | 1 100
5,000 | 1 50
0 — — 0=/" &
1918 3A 5H 78 9A 11H 20.1 A 3A 5A 78 9R 118 ——% %
100 2 REASIVUOBHEH. £ NHERAL & #
—— % %

50

Olzlw. |_| _|_| R I e NN \D,/ﬁ\ I:l|_||_| ! |
1918 2R 3A %I \S.EQV 7R 8H 9A 1 20.1H |3__ﬁ| El A 6A \Xi{ 8H 9A 10A 118 128




RERIVUOBMASHE. £B(AR) (19/1~1220/1~)

B £ . B5HM.%

E]| 1918 25 38 48 | 58 68 78 8H 9B | 10A | 11B | 128 | 2018 28 35 48 55 68 78 | 8A | 9B | 10B | 118 | 128
& % | 73024] 59305 51.103] 85405 95612] 33043] 58322| 68043| 43824] 38626| 58939 82376] 84978] 40886 47940 60504 119,988 218572 195564] 118,990
STETELE -14.8 -8.9 10.8 38.3 57.7 -35.8 32.8 95.2 30.9 -26.6 -2.8 16.2 16.4 -31.1 -6.2 -29.2 255 561.5 2353 74.9
& %8 840 609 583  646| 540 369] 530 510  463]  446| 578 675 894 407 528 546|  751| 1257| 1.306] 1.110
B 196 221 -103 41| 69| -354 32 76| 125 -70| -141 58 65| -332 —94| -155| 39.1| 2403| 1466 1177
S8(8) FEAILUOBALY. £ EH(BSM)
250,000 1,500
200,000 | T,
150,000 | 1 1000
100,000 |
1 500
50,000 | m—]C
] [ (1 [ 1 [] %4
o141 1 1 1.1 1. 1| L1 1.1 | N D N R N S A S S R L | 0
1918 3R 54 7R 9AR 118 20.1 A 38 58 7H 9AH 118
% REFAIDDBMASH. £% XaIERAL
600 —
400 |
s
200 | A \H\‘ ——% %
0 Il Il m D Il L 'TI - m /z Il L J Il D Il Il
ﬁ == w\m/' = ¥ ¢E
1918 28 38 48 5B 6A 78 8A 9B 10BA 118 128 2018 2B 3B 4B =58 6B 7B 88 9B 10RA 11A 12A7
-200




TRRASVUODERE. Rt AEGH(AR) (19/1~12,20/1~)
B 5.%
1 & | 1918 | 28 3A 47 5 A 6 A 7 A 8 A 9R8 10A | 118 | 128 | 201A | 2A 38 48 58 68 7R 8H 9 108 | 118 | 128
HEEH 7,561 7,748 7,545 7,824 7,453 7,092 7,480 5,810 6,783 6,462 5,740 5,389 5,938 4934 5672 4211 2,181 1,862 3,024 2911
SRIELE -6.7 -15 -175 -15.7 -191 -23.9 -17.2 -28.8 -84 -28.6 -26.1 -258 -21.5 -36.3 -24.8 -46.2 -70.7 -73.7 -59.6 -49.9
RIS 10,585 10,962 14,273 11,163 11,339 10,884 9,569 9,787 8,929 9,071 9,688 8,255 7,925 6,596 11,230 7,355 5,489 3,457 6,328 4,336
SRIELE -10.8 0.2 -12.4 -31.9 -24.7 -31.8 -41.0 -23.9 -36.4 -33.0 -30.2 -29.6 -25.1 -39.8 -21.3 -34.1 -51.6 -68.2 -33.9 -55.7
EES# 13,005 13,619 11,381 12,800 12,309 11,966 13,253 11,932 11,485 11,505 11,000 11,037 11,450 11,932 9,689 10,658 9,886 9,970 8,924 8,811
SRIELE -8.1 -12.7 -20.0 -5.8 -12.8 -13.3 11.9 -4 0.2 -59 -54 -7.6 -12.0 -12.4 -14.9 -16.7 -19.7 -16.7 -32.7 -26.2
LR (L -\
a8 (8) TERIVUDEE. RFEEH CoOEESH
15,000 e REEH
10,000 |-
5000 |
0
19.1H 3A 5H 78 9H 118 2018 3R 58 78 98 118
% IXAILUNEE. REAY HeERAL CoOEESH
20 ——REE
0 I Y —-— I . . . . I . . . . . . . .
1%\&5 |@| I&ﬁl Iefl |7_JEJ| S A Q 0 1 2 2}1,13 >R <z A 55 68 78 S A 98 10A 118 12A8
| \/\\/
A\‘,/—o/’___’/\
40 | AN
AN / N~
_60 L —
|
-80




TERIDUDEE,. RFEEFE(AR)  (19/1~1220/1~)
Bfi-BAA. %
IS 19.18 2R 3H 48 5H 6 H 78 8H 9H 10H 118 12H 20.18 28 3H 48 5H 6 B 78 8H 9H 10H 11H 12H
EESEE 1,811 2,162 2,122 2,191 1,991 2,044 1,987 1,563 1,831 1,506 1,406 1,444 1,284 1,491 1,299 1,314 658 544 518 628
STRILELE -17.9 -10.1 -18.7 -171 -23.8 =241 -22.3 -31.7 -18.9 -35.1 -35.5 -29.2 -29.1 -31.0 -38.8 -40.0 -67.0 -73.4 -73.9 -59.8
HRFE&ZE 2,178 2,483 3,201 2,489 2,362 2,467 2,168 2,060 2,321 1,789 1,894 1,774 1,551 1,660 1,795 1,585 952 719 695 884
STRILELE -20.8 -5.8 -5.8 -20.2 -21.4 -30.0 -33.9 -25.6 =235 -30.3 -31.5 -27.4 -28.8 -33.1 -43.9 -36.3 -59.7 -70.9 -67.9 -571
£2(BAM) T¥RAIVUVDEE. /REE%E
4,000
3,000 |
2,000 =
CoEESEE
o LL| || [N T S N S S o A o O
19.18 38 5H 78 9H 118 20.18 38 5H 78 9H 118
%
0 P . N
1M )= Y= 5 A BBl 9B 108A 118 12A8
-20 - =N
a0 | COAESE
—— R4
_60 L
-80




TERILUOEEBERH. £®B(AR) (19/1~12,20/1~)

BEi5.8BHH.%

B [ 1918 | 28 3H 45 5H 658 78 8H | 9A [ 108 [ 11A [ 128 [201A | 2R | 38 | 48 [ 58 | 68 | 78 | 88 [ 98 | 108 [ 11A | 128
5 # 9288 12591] 12353] 10555 10118] 10973| 10201| 7983] 9584| 11.187] 9691] 9614] 7209 7903| 10109] 6809 2818] 3421 4374] 5317
WEIEL | -187] 50| 296 255 -133] —278] —250] 325 -—219] 33| 222 -104] —224] -372] -182] —355] -72.1] —688] -57.1] 334
£ & 2045 3019 3180 2534] 2368] 2759] 2243] 1891] 2121] 2181| 1664 1811] 1326] 1418] 1501| 1249]  423]  486]  479] 768
WEIEL | -283] 124  —129] —207] -139] —246] —322| -366] -302] -—254] 490 382 -352] -530] —528] 507 -82.1] —824] -787] 594
a8 &) TR VOHHAR. 28 BB
14,000 3,500
12,000 | 7/4\ 1 3,000
* pre—
10000 | / S| NG _ N — 1 2,500
|« T ]
8,000 —— \\*/*\ 2,000
| || ¢ |
6,000 1,500 5 B
4,000 | — 1 1000 |4 o g
2,000 | ol tet 1o 1 500
0 e e R 0
1918 3H 5H 7H 9H 114 20.18 3H 5H 7R 9AH 11A
% ITXRAILUOWmEEH. €% XFIERAL
50
/\
0 | — - o | | - o | - o | - — | - " | | - " | - o - o - o - o - o - o ~ —
16, 27 @I & |7_JEI| A kA 108 118 2B ik pA A A A A B EI 98 10A 118 128 =8 &
/o/*‘\'/._’\ ——% %
=50 o o w
-100




THRAIVVOBMAEH. £FEAR) (19/1~12,20/1~)
B &£. 8. %
1 E | 1918 | 2A° 38 4 A 58 68 78 8H 9B | 10A | 11A | 12A | 201A | 2A 38 48 58 68 78 8H 9B | 108 | 11A | 12K
5 ¥ 3611| 2384] 8608| 3104 5342 25971 7500 2677 2525 7586] 2176] 2083] 1854 577 2212 1836 1150 1413 821 796
SRIELE 70.5 63.3 438.0 81.1 178.7 76.3 3094 53.0 27.7 267.0 -60.4 -20.5 -48.7 -75.8 -74.3 -40.9 -785 -45.6 -89.1 -70.3
& % 369 198 242 302 230 258 235 225 216 218 192 184 155 58 200 85 100 153 109 90
WaTEL | 1053 34| 960 1022 -132 15.4 62.4 40| -36| -157] -303] -250] -s81| -707] -173] -719] -566| -407] -537] -599
BH(H) I%ASLUOBALY. £48 ERETMA)
10,000 400
8,000 | [ ] - - 300
6000 | x/\/’\*
, \0\.__
* 200
4,000 | /a #
——% %
< 00U o a0l on ]
o LL 1 . | | I S N N L 1 .1 | L1 [ | I_I — 1| ] 0
19.18 3R 5H 7R 9H 118 2018 3R 5H 7R 9H 118
o TEADVORALH. RE HERAL
600
400
s
200 ——% %
o [ L1 R 7 ==
1918 2B 3A 4A 5B 6B 7B S8A 9A 10A 128 20 68 9B 108 11A 128
-200
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5 E-lR E-EE
(Bf: &, B5HM. %)
5 g 2020 & 8 A _
— &£ E iR 5t T E
¥ E (AEE#AL] € B |FERSL| K E O|(ERHAL| £ #E |AER#L| &% 2 | IERIEL
e KERIVUE 5,130 140.4 230 125.7 5,150 139.6 234 121.9 228 80.9
— RS ERALE 203 30.9 22 36.7 216 32.8 30 55.6 432 76.7
TEm ~ Y & 455 69.1 77 59.7 1,326 39.6 126 40.0 4,191 66.7
FOMOITERIVY 2,253 50.1 529 385 2,794 48.3 728 43.1 4,188 82.4
IXAIDUR 2,911 50.1 628 40.2 4,336 443 884 42.9 8,811 73.8
YU A& 8,041 85.0 858 491 9,486 70.4 1,118 49.6 9,039 74.0
1. M- BEEFREEETRKE 2. BEFBAREHEETT,
fB%: (10200281 AHORERIVVORBRANEESN, FREGAZTHRBEH SN,
(2)2005F1 AN T ERAIVVOEBRANEEREIN., BMA-—YMER - ZOMILT ZOMINHESNELT-,
(BB, B5HMA. %)
5 g 2020 £ 1~ 8 H:.:
— & B iR 5t T E
¥ E (AEE#AL] € B |AERSL| % E O |(ERHAL| £ #E O |AER#L| &% 2 | IERIEL
e RERIDUET 29,011 87.2 1,303 82.9 28,990 87.2 1,301 83.3 228 80.9
— AR ERALE 2,777 49.8 273 54.3 2,750 52.0 273 57.4 432 76.7
TEm ~ Y & 4111 63.1 707 62.1 19,655 69.5 1,477 55.2 4,191 66.7
FOMOITERIVY 23,845 51.4 6,756 475 30,311 55.1 8,091 49.8 4,188 82.4
ITXAIDUR 30,733 52.5 7,736 48.7 52,716 59.5 9,841 50.7 8,811 73.8
YU A& 59,744 65.1 9,039 51.8 81,706 67.1 11,142 53.1 9,039 74.0
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(MBEEBBRA)

(L&, FH. %)

20204 8H & &
Gl & &

& E F & B7UT78AE 3 AT 4 [7] Hf Lt R7OT71~8H5t % Hil 4 [7] #A Eb.
8= & % B E + %8 B = & %8 B E & %8 B = & %8 B = + % HE & %8 HE & %
R VIR EFEERER) 0 0 - — 0 0 - -
BE [V rRED#) 0 0 - - 0 0 - -
A |0 0 0 - - 32 839 60.4 215
= N E 0 0 0 0 0 0 0 0 0 0 - - 32 839 60.4 215
2 8 5 [RERT/OLD 1,305 19,656 1,566 0 22,527 - 143.4 0 112,768 - 93.6
D REHAIVUEE 0 0 0 1,305 0 19,656 0 1,566 0 22,527 - 140.5 32 113,607 60.4 91.4
BB HHERGYH) 3 975 3 975 100.0 90.9 4 5475 8.0 6.0
B HHBERE D) 0 0 - - 0 0 - -
T BEiX A—/\—0Ovy 0 0 - - 38 10,131 122.6 51.6
BE Zonis 53 40,192 22 3,234 75 43,426 31.0 15.2 628 687,637 16.1 19.0
w it 3 975 53 40,192 22 3,234 0 0 78 44,401 30.2 15.3 670 703,243 16.9 18.8
T EHEREGEYR) 29 944 29 944 223.1 26.8 76 9,326 35.0 27.2
A T BEHEHREDM) 2 541 2 541 4.4 5.7 361 56,686 52.4 47.4
ZOM A—/—0OvH 239 34,355 239 34,355 76.1 52.6 1,992 324,445 72.0 66.2
= ZDM  Fith 20 745 311 61,676 12 951 479 185,332 822 248,704 59.6 74.4 8,060 1,704,683 61.8 65.0
= B 49 1,689 311 61,676 12 951 720 220,228 1,092 284,544 62.4 69.0 10,489 2,095,140 62.8 64.2
s N 52 2,664 364 101,868 34 4,185 720 220,228 1,170] 328,945 58.2 46.8 11,159] 2,798,383 54.0 40.0
RE A —R(E) 270 552 51,632 9,355 9,430 3,753 19,952 4,193 81,284 17,853 42.4 59.8] 990,091 148,890 73.1 741
. m g A< U&E) 814 2,631 66,935 107,500 1,218 1,842 7,662 13,264 76,629 125,237 80.1 72.0] 501,958 975,277 54.8 55.4
ZDfth 641 71,442 7,460 19,534 0 99,077 - 448 o 1,073,927 - 48.3
N E 3,824 188,297 13,055 36,991 ol 242167 - 57.0 o] 2,198,094 - 52.5
TEAILUAE 52 6,488 364] 290,165 34 17,240 720 257,219 1,170 571,112 58.2 50.6 11,159 4,996,477 54.0 44.7
EH(FAK) 31 390 169 3,942 2,125 17,217 2,325 21,549 69.6 74.5 46,670 427,344 88.2 88.2
T=7 W RUAN— 0 0 - - 0 0 - -
IR CO 10 52 2,664 364 101,868 34 4,185 720 220,228 1,170] 328,945 58.2 46.8 11,191 2,799,222 54.0 40.0
N it 52 6,488 364] 291,860 34 40,838 720 276,002 1,170 615,188 58.2 52.4 10,573| 5,537,428 57.0 46.9
NhF L 2 A SUHR—IL L—I7F J4)EY AVRRIT HoRST Sy T—
= £ & B = & %8 8= & %8 B = + % = & %8 ¥ = & %8 B = & %8 8= & %
R VI EFRERER) 240 1,101 373 455 579 654 1,922 6,658
E [V 7 gED) 947 1,484 1511 6,366
A [Zdih 101 480 500 720
= NE 1,187 2,585 0 0 0 0 0 0 474 935 0 0 579 654 3,933 13,744
B & [REBIVOLD 3,103 466 2,509 524
D RERAIVVEE 1,187 5,688 0 466 0 2,509 0 0 474 935 0 0 579 654 3,933 14,268
B HHBERGEYA) 516 2,920
BB HHERE D)
T BEX A—/N—avy 37 210
SRRk 1 1,388 20 31,039 200 3,242
w it 1 1,388 0 0 20 31,039 0 0 200 3,242 0 0 0 0 553 3,130
T EHEREWR) 28 8,717
== T EHERE D) 47 10,782
M A—/N—0OvH 12 1,825
= TN ZDith 6 2,316 478 101,191
= it 6 2,316 0 0 565 122,515 0 0 0 0 0 0 0 0 0 0
S I E 7 3,704 0 0 585 153,554 0 0 200 3,242 0 0 0 0 553 3,130
RE A — (&) 10,144 1,699 2,900 2,334 3,066 1,422
. m B H<{E) 27,220 15,892 99 574 1,682 7,100
Z Dk 16,355 10,453 14,490 234 2414 668
N B 33,946 13,361 23,012 234 2,414 668 0 0
TERAILUAE 7 37,650 0 13,361 585 176,566 0 234 200 5,656 0 668 0 0 553 3,130
EH(FA) 580 6,318
T-7 W R hN -
IR CO2-E10) 1,194 6,289 0 0 585 153,554 0 0 674 4177 0 0 579 654 4,486 16,874
s Hi 1,194 49,656 0 13,827 585 179,075 0 234 674 6,591 0 668 579 654 4,486 17,398
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> IRERFD 2S5 h NoTS5Foa R /8 H ot T BILAE [ B LE R 77 1 ~8H ot 5 511 2% [m] B L,
= & %8 8 = & %8 8= & % 8 = & % 8= & % B = & & B = ® % B = & %
R VYT EFRERER) 3,114 8,868 133.9 242.8 17,151 35,540 102.2 1135
E |V REOH) 2,458 7,850  5,462.2 2,023.2 8,607 27,141 176.6 128.0
A [ZDih 601 1,200 36.1 27.6 7,956 27,916 70.4 69.9
= N 0 0 0 0 0 0 0 0 6,173 17,918 153.1 2135 33,714 90,597 102.3 98.0
% 2 5 |RERIVOLD 3,400 0 10,002 - 4145 0 39,414 - 145.9
D RERIVUEE 0 0 0 3,400 0 0 0 0 6,173 27,920 153.1 258.4 33,714 130,011 102.3 108.8
B HHEREYA) 516 2,920 11,8429 7.1 1,523 30,526 435.1 25.0
BB HHERE D) 0 0 - - 0 0 -
T BEixX A—/\—0Ovy 37 210 740.0 6.1 330 24,894 63.3 66.1
BB T 221 35,669 302.7 33.6 766 392,871 23.2 13.4
w E 0 0 0 0 0 0 0 0 774 38,799 730.2 25.7 2,619 448,291 62.7 145
T EHEREWR) 28 8,717 20.6 65.4 1,308 108,855 77.5 45.4
== T EHERCE D) 4 768 51 11,550 46.8 55.4 580 128,166 24.0 29.8
FDi A—/N—0OvH 1 324 13 2,149 11.6 29.2 884 70,475 81.1 74.3
= | EOfh Zoih 70 10,200 554| 113,707 22.8 23.7 8,241| 1,431,098 44.3 41.3
= it 75 11,292 0 0 0 0 0 0 646 136,123 23.2 26.1 11,013] 1,738,594 46.3 411
s NE 75 11,292 0 0 0 0 0 0 1,420 174,922 49.1 26.0 13,632| 2,186,885 48.8 29.8
RE A —Z({E) 487 438 16,597 5,893 64.4 941] 357,379 64,929 110.9 89.8
S m 5 H<{E) 1,469 2,500 1,396 2,448 304 1,494 2,110 3,443 34,280 33,451 42.5 498] 293,135 318,684 42.5 58.7
ZNDis 5,001 1,728 2,383 767 0 54,493 - 26.9 0 732,462 - 431
N B 7,501 4,176 3,877 4,648 0 93,837 - 34.0 o] 1,116,075 - 48.2
TERIVUEE 75 18,793 0 4176 0 3,877 0 4,648 1,420 268,759 491 28.3 13,632 3,302,960 488 34.2
E(FA) 13 996 4 227 597 7,541 9.7 17.0 6,906 86,063 14.0 21.3
T=7 VB UhnN - 0 0 - - 0 8,176 - 28.6
et (S8 75 11,292 0 0 0 0 0 0 7,593 192,840 109.6 28.3 47346| 2,277,482 77.7 30.7
@ &t 75 19,789 0 7,576 0 3,877 0 4875 7,593 304,220 109.6 30.1 47,346 3,527,210 77.7 34.6
AASIIL 750 & & EE B T R8H &t T B2 B B LE TR 1 ~8 A oF T BILAE [ B LL JIL9T— FoR—%
= & %8 H = & %8 B = & & = & % B = & % B = & % = & % B = * %
R VYT RREFRERER) 7,460 20,976 7,460 20,976 2254 232.7 46,473 147,192 138.7 221.1
E VY REO) 4,736 24,182 4,736 24,182 80.8 62.9 24,340 169,442 73.1 85.8
A [ZDih 6 260 5719 26,911 5,725 27,171 80.1 91.7 35,737 162,553 53.7 56.2 170 8,309
= N 6 260 17,915 72,069] 17,921 72,329 109.8 93.8] 106,550 479,187 79.9 86.6 170 8,309 0 0
| B & [RERBIVOLD 0 0 - - 0 1,520 — 222
D RERAIVVEE 6 260 17,915 72,069] 17,921 72,329 109.8 92.7] 106,550 480,707 79.9 85.8 170 8,309 0 0
B HHEREYH) 101 558 101 558 - - 1,458 8,135 65.0 77.7
BEi EHEHEHREDH) 0 0 - - 0 0 - -
T BEixX A—/\—0Ovy 435 2,050 435 2,050 304.2 301.5 1,508 7,194 66.6 73.2
BHX T 0 0 - - 524 7,726 33.1 73.5
w it 0 0 536 2,608 536 2,608 286.6 289.8 3,490 23,055 57.3 74.8 0 0 0 0
T EHEREWR) 326 1,346 326 1,346 252.7 51.1 1,082 5,247 102.9 67.3
== T HEHERCE D) 0 0 - - 230 874 171.6 6.5
ZFDih A—/N—0OvYH 0 0 - - 1,558 11,810 162.5 81.2
= O ZDih 355 8,189 355 8,189 696.1 508.9 1,328 62,122 74.2 159.0 1 461
= i 0 0 681 9,535 681 9,535 252.2 181.3 4,198 80,053 106.7 107.0 0 0 1 461
s, N 0 0 1,217 12,143 1,217 12,143 266.3 197.2 7,688 103,108 76.7 97.6 0 0 1 461
RE A —Z{E) 6,000 559 6,000 559 69.5 49.6 26,320 2,256 64.8 33.2
S & 5 H<(E) 612 987 612 987 19.6 29.5 4,051 5,429 23.1 25.5
Z D 2,224 0 2,224 - 62.1 0 18,916 - 64.0
N B 0 3,770 0 3,770 - 46.8 0 26,601 - 46.1 0 0
TERIVUAE 0 0 1,217 15,913 1,217 15,913 266.3 111.9 7,688 129,709 76.7 79.4 0 0 1 461
EH(FA) 0 0 - - 27 801 0.9 4.4
T=7 VB UhnN - 0 0 - - 0 0 - -
e (U8 6 260 19,132 84212 19,138 84,472 114.1 101.5] 114,238] 582,295 79.6 88.4 170 8,309 1 461
2 it 6 260 19,132 87,982 19,138 88,242 114.1 95.7] 114,238 611,217 79.6 82.4 170 8,309 1 461

13




A1¥R A543 N)L¥— TS5V R K1Y RILEAIL A13)TF =3k
= & %8 8= & %8 8 E & %8 8= & % 8 E & % 8 E £ B = & % M E & %8
R |V T RREFRERER) 1,185 56,829
E [V 7 8ED)
A [ZDih 935 45,082
= N E 0 0 0 0 0 0 0 0 2,120 101,911 0 0 0 0 0 0
L8 & [RERVVOLED 832
b RERAIVUEE 0 0 0 0 0 0 0 0 2,120 102,743 0 0 0 0 0 0
B HHEREYA)
B HHERE D)
T B A—/1—0Ovy
BEiX Zoih 3 3,915 1 3,046
w it 0 0 3 3,915 0 0 1 3,046 0 0 0 0 0 0 0 0
T EHEREWR 96 13,151
A T EHERCE D) 10 2,467 10 1,784
FNM A—/"—0OvH 173 25,374
= | EOfh Zofh 4 1,012 36 11,007 50 1,400 149 22,025 1 377
= it 14 3,479 142 25,942 50 1,400 0 0 322 47,399 0 0 1 377 0 0
S N 14 3,479 145 29,857 50 1,400 1 3,046 322 47,399 0 0 1 377 0 0
RE A —Z({E) 1,270 473 1,405 848 2,900 341 1,004 917
. m B H<UE) 131 473 160 320 95 582 462 1,250
Z D4 1,818 3,065 7,174 253 664 8,668
N B 2,764 0 0 3,065 8,342 253 1,587 10,835
TERAILUEE 14 6,243 145 29,857 50 1,400 1 6,111 322 55,741 0 253 1 1,964 0 10,835
#H(FA) 5 449
T-7 W RN -
Wt (U8 14 3,479 145 29,857 50 1,400 1 3,046 2,442 149,310 0 0 1 377 0 0
i it 14 6,243 145 29,857 50 1,849 1 6,111 2,442 158,484 0 253 1 1,964 0 10,835
av7 F—ZAR)F IL—==7F JILHIT =) SLET Y7 =7 "S-
B E & % B E + %8 8 E & % HE Eoll H = & %8 8 =2 Eoll = & % B E £ %
R VIR EFRERER)
E VY7 EDH)
A |0t
= N E 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
| B & [RERIVOELD
v REHAIVUEE 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
B HHERGYH)
B HHBERE D)
T BEk A—/1\—0Ovy
B ot
w it 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T EHEREEA)
A T BEHERE DM 15 1,755
TR A—/N\—Avy 48 12,744
= | ZOfh Zofh 78 11,215 4 1,300 50 3,912 100 2,894 3 900
= it 126 23,959 4 1,300 0 0 0 0 65 5,667 100 2,894 3 900 0 0
s N E 126 23,959 4 1,300 0 0 0 0 65 5,667 100 2,894 3 900 0 0
RE A —ZX({E) 3,000 835
. m g A< &) 68 264 282 517 3,801 6,163
ZDfth 522 234 1,479 292
N E 522 0 498 517 8,477 0 0 292
TERAILUAE 126 24,481 4 1,300 0 498 0 517 65 14,144 100 2,894 3 900 0 292
EH(FAK)
T-7 W R AN -
Wi (ELUEED 126 23,959 4 1,300 0 0 0 0 65 5,667 100 2,894 3 900 0 0
n it 126 24,481 4 1,300 0 498 0 517 65 14,144 100 2,894 3 900 0 292
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Fz3 3—0y/\8 B &t *} B £ [E # Lt 3—Ow/N1~8H5t % Hi] 4 [7] HA EE Hhr3 T A)HhERE ETEE:

B = & % B E + %8 = & %8 B E + %8 B = & %8 B = * % HE & %8 HE & %
R VIV RREFRERER) 1,185 56,829 497.9 3,903.1 2,034 100,649 854.6 6,912.7 50 13,045 50 13,045
E VY7 EDH) 0 0 - - 410 17,588 1,464.3 1,460.8 0 0
A [ZDih 318 13,889 1423 67,280 106.7 109.4 5,637 286,133 69.8 73.7 1,616 89,383 1,616 89,383
= N E 318 13,889 2,608 124,109 165.9 197.1 8,081 404,370 96.8 103.5 0 0 1,666 102,428 1,666 102,428
2 8 5 [RERT/OLD 0 832 - 332.8 0 8,488 - 128.6 1,069 0 1,069
N REHAIVUEE 318 13,889 2,608 124,941 165.9 197.6 8,081 412,858 96.8 103.9 0 0 1,666 103,497 1,666 103,497
B HHEREYH) 0 0 - - 0 0 - - 0 0
BE EHEHRE D) 0 0 — - 0 0 - - 0 0
T BEiX A—/\—0Ovy 0 0 - - 1,346 56,653 159.3 104.0 0 0
BE Znis 4 6,961 8.7 11.6 313 406,232 52.8 495 1 5,406 1 5,406
w it 0 0 4 6,961 0.9 8.6 1,659 462,885 115.0 45.9 0 0 1 5,406 1 5,406
T EHEREWH) 96 13,151 54.5 55.1 696 98,940 54.4 57.6 86 13,187 86 13,187
A Tt BEHEHREDM) 35 6,006 30.7 48.0 252 54,261 27.8 478 114 22,969 114 22,969
TR A—/N\—AvH 221 38,118 66.6 81.9 1,327 188,051 53.2 451 8 910 8 910
= | ZOfh Zofh 476 56,503 68.1 59.0 3,196 561,647 62.5 56.4 188 34,537 188 34,537
= Hi 0 0 828 113,778 62.7 63.7 5,471 902,899 55.9 53.2 0 0 396 71,603 396 71,603
s N 0 0 832] 120,739 46.7 46.5 7,130 1,365,784 63.5 50.5 0 0 397 77,009 397 77,009
RE A —ZR({E) 9,579 3414 86.9 40.2 117,083 47,388 741 62.7 14,857 4311 14,857 4311
. m g AR4CED) 4,999 9,569 83.5 59.4 34,538 73,329 56.6 445 2,500 9,201 2,500 9,201
ZDfth 0 24,169 - 67.0 0 211,700 - 54.9 745 43,335 0 44,080
N E 0 0 37,152 - 61.2 0 332,417 - 53.1 745 56,847 0 57,592
TERIVVEE 0 0 832 157,891 46.7 493 7,130 1,698,201 63.5 51.0 0 745 397 133,856 397 134,601
EH(FAK) 5 449 31.3 84.6 218 3,673 31.4 76.7 169 4,603 169 4,603
T=7 W RUAN— 0 0 - - 0 0 - - 0 0
e (U85 318 13,889 3,440| 244848 102.6 75.9 15,211] 1,770,154 77.7 57.2 0 0 2,063 179,437 2,063 179,437
N it 318 13,889 3,440| 283,281 102.6 73.7 15,211] 2,114,732 71.7 56.6 0 745 2,063 241,956 2,063 242,701

>3 R4 [F] H He tH¥1~8H5t %3 Hil 5 [7] #A Er. AxLO hRoPaSR FE—hHEFE INF GESEHS

B = & % B = & % B = & & B = & % B = & % B = & % = & % B = * %
R VYT RREFRERER) 32.3 29.8 165 47,699 36.3 36.7 0 0
E VY REO) - - 0 0 - - 0 0
A [ZDih 555.3 481.3 7,424 401,604 76.7 75.3 0 0
= N 3735 164.3 7,589 449,303 74.9 67.7 0 0 0 0 0 0 0 0 0 0
L8 & [RERVOED - 59.1 0 6,297 - 10.0 0 0
D RERAIVVEE 3735 161.3 7,589 455,600 74.9 62.7 0 0 0 0 0 0 0 0 0 0
B HHEREYH) - - 0 0 - - 0 0
BB HHERE D) - - 0 0 - - 0 0
T BEixX A—/\—0Ovy - - 1 9,631 16.7 110.5 0 0
BEil Zoih 1.8 5.2 85| 192,168 17.1 275 0 0
w it 1.8 5.2 86] 201,799 16.6 27.6 0 0 0 0 0 0 0 0 0 0
T EHEREWR) 39.6 58.0 644 64,383 44.6 50.2 0 0
== T HEHERCE D) 59.1 71.1 1,138 153,920 47.0 443 0 0
ZFDih A—/N—0OvYH 5.9 5.3 478 102,309 34.6 423 0 0
= | _EDfth Dt 84.7 50.2 1,831| 372278 41.2 35.1 11 893 11 893
= i 51.6 50.8 4,091 692,890 42.2 39.0 11 893 0 0 0 0 0 0 11 893
s, N 48.2 315 4177 894,689 40.9 35.6 11 893 0 0 0 0 0 0 11 893
RE A —Z{E) 411.8 96.1 52,593 25,356 70.9 445 0 0
. m B H<{E) 93.2 81.6 30,820 80,483 80.2 55.7 150 393 150 393
ZNDfth - 51.4 ol 403567 - 60.1 4175 17,251 2,440 223 0 24,089
N B - 56.7 0| 509,406 - 58.4 4,568 17,251 2,440 223 0 24,482
TERAILUEE 48.2 38.9 4177| 1,404,095 40.9 415 11 5,461 0 17,251 0 2,440 0 223 11 25,375
EH(FA) 331.4 401.3 682 25,483 56.8 183.8 0 0
T=7 VB UhnN - - - 0 2,227 - 76.7 0 0
BEH(ELUEED 162.6 58.5 11,766 1,343,992 57.8 423 11 893 0 0 0 0 0 0 11 893
w it 162.6 59.0 11,766 1,887,405 57.8 45.7 11 5,461 0 17,251 0 2,440 0 223 11 25,375
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xI 8 2E RIB L k1 ~8H af T 81 2 [ B LE JOUE7 RUET J5T)L IIVTTA EETER
B = & % B E + %8 = & % B E & %8 B = & %8 B = * % HE & %8 HE & %
R VIV RREFRERER) - - 0 0 - - 0 0
BE [V rRED#) - - 0 0 - - 0 0
A |0 - - 0 0 - - 0 0
= N E — - 0 0 — — 0 0 0 0 0 0 0 0 0 0
| B & [RERIVOED - - 0 0 - - 0 0
N RERIVUEE - - 0 0 - - 0 0 0 0 0 0 0 0 0 0
B HHEREYH) - - 0 0 - - 2 244 2 244
BE EHEHRE D) - - 0 0 - - 0 0
T BEiX A—/\—0Ovy - - 0 0 - - 0 0
BE Znis — - 0 0 - - 5 12,738 5 12,738
w it - - 0 0 - - 0 0 0 0 7 12,982 0 0 7 12,982
T EHEREWH) - - 2 230 33.3 17.2 0 0
A Tt BEHEHREDM) - - 0 0 - - 0 0
TR A—/N\—AvH - - 0 0 - - 0 0
= | ZOfh Zofh - - 170 16,751 23.7 19.4 3 366 3 366
= Hi - - 172 16,981 23.2 16.6 0 0 0 0 3 366 0 0 3 366
s N - - 172 16,981 22.5 10.9 0 0 0 0 10 13,348 0 0 10 13,348
RE A —ZR({E) - - 15,158 2,642 40.2 29.8 50 276 50 276
. m g A< {E) 4.1 6.3 2,658 7,080 21.2 22.6 116 247 1,028 2,133 1,144 2,380
ZDfth - 93.8 ol 136,184 - 57.2 212 6,106 220 0 6,538
N E — 74.9 ol 145906 - 52.4 459 0 8,515 220 0 9,194
TERIVVEE - 71.7 172 162,887 225 375 0 459 0 0 10 21,863 0 220 10 22,542
EH(FAK) - - 0 412 - 9.1 1 324 1 324
T=7 W RUAN— - - 0 0 - - 0 0
e (U85 - - 172 16,981 22.5 10.9 0 0 0 0 10 13,348 0 0 10 13,348
N it — 77.7 152 163,299 29.0 37.2 0 459 0 0 10 22,187 0 220 10 22,866
X3 AT 4E [5] Hf HE mX1~8H:t %3 Hil 4 [7] #A Eb. EOwa Fa=T7F IOTh A—H FATITF
B E & % B E + %8 8 E & & B E Eoll H = & %8 B E Eoll B = & % B E £ %
R |V T RREFEERER) - — 0 0 - - 45 227
E VY7 EDH) - — 0 0 - -
A |0t - - 0 0 - -
= N E - - 0 0 — - 0 0 0 0 0 0 0 0 45 227
8 & [REBTVDOED - — 0 0 - -
D RERIVUEE - - 0 0 - - 0 0 0 0 0 0 0 0 45 227
B HHERGYH) - - 2 244 - -
B HHBERE D) - - 0 0 - -
T BEl A—/1\—0Ovy - - 0 0 - -
BE Zonih 250.0 619.9 8 16,043 61.5 62.9
3 it 350.0 631.7 10 16,287 76.9 63.9 0 0 0 0 0 0 0 0 0 0
T EHEREEA) - - 14 1,960 233.3 167.7
A T BEHEHRE DM - - 10 2,396 - -
TR A—/N\—Avy — - 1 324 338 19.8 98 6,652
= | ZOfh Zofh 150.0 97.6 928 94,470 100.7 110.7 152 30,073
= it 150.0 97.6 953 99,150 99.9 1125 0 0 0 0 250 36,725 0 0 0 0
s N E 250.0 549.3 963] 115,437 99.6 101.6 0 0 0 0 250 36,725 0 0 0 0
RE A —ZX({E) 2.7 17.7 2,836 2,461 17.4 31.8
. m g A< &) 63.4 491 6,475 16,397 49.7 48.3 28 352 122 719
ZDfth - 85.0 0 35,171 - 56.9 436 2,642
N E - 65.2 0 54,029 - 52.2 788 3,361 0 0 0
TERAILUAE 250.0 136.4 963 169,466 99.6 78.1 0 788 0 3,361 250 36,725 0 0 0 0
EH(FAK) 100.0 150.0 3 755 300.0 3495
T=7 W RUAN— - - 0 0 - -
Wi (ELUEED 250.0 549.3 963 115,437 99.6 101.6 0 0 0 0 250 36,725 0 0 45 227
N it 250.0 136.6 963] 170,221 99.6 77.6 0 788 0 3,361 250 36,725 0 0 45 227
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IFAET 9H T w7 )N 7 D78 H o XT B4 R B LL 7 A1 ~8 A &t XTBILAE [ B LE F—AFS)7
B = & % 8= & % = & % 8 = & % 8= & % B = & & B = ® % B = & %
R VYT EFRERER) 45 27 - - 283 1,812 88.2 22.6
E |V REOH) 0 0 - - 110 399 1,833.3 1251
A [ZDih 5 326 5 326 - - 497 4523 1,506.1 258.2 180 8,384
= N 0 0 0 0 5 326 50 553 - - 890 6,734 247.2 66.7 180 8,384
L8 & [RERVOED 0 0 - - 0 0 - -
v RERIVUEE 0 0 0 0 5 326 50 553 - - 890 6,734 247.2 64.4 180 8,384
B HHEREYA) 0 0 - - 0 0 - -
BB HHERE D) 0 0 - - 0 0 - -
T B A—/—Avy 0 0 - - 0 0 - -
BB T 0 0 - - 1 1,936 5.0 29.8
w B 0 0 0 0 0 0 0 0 - - 1 1,936 0.6 27.2 0 0
T EHEREWR) 0 0 - - 96 1,502 31.7 25.5
A T EHERCE D) 0 0 - - 0 0 - -
FDi A—/N—0OvH 5 474 103 7,126 - - 463 11,291 91.7 140.2
= | 0 Zoith 5 2,747 157 32,820 - - 848 52,029 83.7 78.1
= it 0 0 0 0 10 3,221 260 39,946 - - 1,407 64,822 70.8 63.3 0 0
s N 0 0 0 0 10 3,221 260 39,946] 2,166.7 1,506.3 1,408 66,758 65.5 60.9 0 0
RE A —Z({E) 0 0 - - 3,955 873 227.8 55.3
. m 5 H<(E) 25 218 175 1,289 27.1 72.6 3,024 9,329 68.4 69.1
Z D 1,770 0 4,848 - 158.9 0 25,234 - 51.7 372
N B 1,988 0 0 0 6,137 - 127.2 0 35,436 - 55.5 372
TERILUEE 0 1,988 0 0 10 3,221 260 46,083 2,166.7 616.2 1408 102,194 65.5 58.9 0 372
E(FA) 0 0 - - 220 1,546 91.7 98.8
T=7 VB UhnN - 0 0 - - 0 0 - -
et (S8 0 0 0 0 15 3,547 310 40,499 2,583.3 1,527.1 2,298 73,492 91.6 61.4 180 8,384
@ &t 0 1,988 0 0 15 3,547 310 46,636] 2,583.3 623.6 2,298 110,474 91.6 59.4 180 8,756
KEMHET %3 Hil 4 [7] #A Eb. REMI~8AET X3 AT [5] #f tE WEt8 B Et 3 A1 4 [7] Hf H “Wit1~8HET %3 Hi] 4 [7] #A Eb.
B E & % B E + %8 8 E & % B E + %8 B E & %8 B E + %8 B E & % B E £ %
R VIR EFRERER) 0 0 - - 21 5,785 84.0 82.0 11,854 99,945 196.6 172.6 77,119 403,735 150.2 165.2
E VY7 EDH) 0 0 - - 0 0 - - 7,194 32,032 121.8 82.5 38,309 242,513 100.2 110.0
A |0t 180 8,384 - - 750 39,073 340.9 364.4 9,550 193,744 915 169.4 62,575 952,894 65.2 75.2
= N E 180 8,384 - - 771 44,858 314.7 252.3 28,598 325,721 127.8 154.3] 178,003] 1,599,142 96.0 92.3
2 5 5 [RERITYOLED 0 0 - - 0 0 - - 0 34,430 - 163.1 0 169,598 - 74.8
D REHAIVVEE 180 8,384 - - 771 44,858 314.7 246.3 28,598 360,151 127.8 155.1] 178,003 1,768,740 96.0 90.3
B HHERGYH) 0 0 - - 0 0 - - 622 4,697 2,006.5 11.1 3,339 46,470 119.1 12.1
B HHBERE D) 0 0 - - 0 0 - - 0 0 - - 0 0 - -
T BEixX A—/\—0Ovy 0 0 - - 0 0 - - 472 2,260 81.9 7.7 3,223 108,503 87.9 83.3
B Zoih 0 0 - - 2 832 200.0 200.0 306 104,200 64.6 18.6 2,332| 1,710,164 235 20.9
3 it 0 0 - - 2 832 200.0 200.0 1,400 111,157 129.5 17.6 8,894| 1,865,137 54.2 21.5
T EHEREEA) 0 0 - - 0 0 - - 565 37,345 84.2 56.5 4,424 298,348 73.8 50.5
A T BEHEHRE DM 0 0 - - 63 7,812 165.8 182.7 202 41,066 438 54.7 2,640 404,751 38.9 38.2
FD A—/N—0Ovs 0 0 - - 1 221 50.0 77.3 584 82,658 59.3 60.2 6,839 720,966 74.0 56.6
= | ZOfh Zofh 0 0 - - 79 5,306 3435 163.9 2,566 495,719 53.6 50.5] 25,163 4,361,453 55.1 51.8
= it 0 0 - - 143 13,339 227.0 171.0 3917 656,788 56.8 52.1 39,066] 5,785,518 57.7 51.0
s N E 0 0 - - 145 14,171 226.6 1725 5317 767,945 66.6 40.6 47,960| 7,650,655 57.1 38.2
RE A —ZX({E) 0 0 - - 0 0 - - 128,367 32,306 52.3 61.5] 1,578,590 302,518 78.7 70.2
. m g A< &) 0 0 - - 0 0 - - 120,489 182,507 62.0 641] 881,863 1498816 50.3 55.2
ZDfth 0 372 - 15.8 0 4,062 - 57.9 0] 259,890 - 44.2 0| 2,680,615 - 50.0
N E 0 372 - 15.8 0 4,062 - 57.9 ol 474703 - 51.3 o] 4,481,949 - 52.7
TERAILUAE 0 372 - 13.3 145 18,233 226.6 119.7 5317 1,242,648 66.6 441 47,960| 12,132,604 57.1 425
EH(FAK) 0 0 - - 0 0 - - 3,097 34,466 32.4 459 54,816 548,314 51.0 58.8
T=7 W RUAN— 0 0 - - 0 0 - - 0 0 - - 0 10,403 - 30.4
RO 10 180 8,384 18,000.0 1,931.8 916 59,029 296.4 227.1 33,915 1,093,666 111.7 52.0] 225963| 9,249,797 83.8 42.5
N it 180 8,756 18,000.0 313.6 916 63,091 296.4 179.7 33,915 1,637,265 111.7 52.3] 225963| 14,460,061 83.8 45.9
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20204 8A (Bt 54 ERBH) w6, FA. %
hE = Nk L 24 131-\—)1,
B8 E & E M= & %8 B = & % B8 E & E %&% £ %
R EHR [ZERGEGERSD) 42,042 303,439 22,500 318,613 42618 415,705 11,830 71,801
Sy |B @ 5418 75,140 808
X E A & &t 42042 308,857 22,500 393,753 42618 416,513 11,830 71,801 0 0
T A (BaXEHER 2 8,037
2oy |1 BBXA-n-0y) 53 1,893 1 900
BEFDi 7 5,931 207 32,585 6 2,467
EEESS 62 15,861 207 32,585 7 3,367 0 0 0 0
FTOMEHELR 205 12,923 28 999
ZFDA-—N—0y) 100 4,985 40 1,985
Z DT D 116 13,871 1 265 30 3,229
FDhET 421 31,779 1 265 98 6,213 0 0 0 0
N .:Jr 483 47,640 208 32,850 105 9,580 0 0 0 0
B & 58,640 47,047 112,652 691 1,220
I X A & &t 483 106,280 208 79,897 105 122,232 0 691 0 1,220
§( F X ) 175 679 30 492 20,085 57,870
T— LRV AH/N— 861 627 355
AL COA = -10) 42,525 351,079 22,708 351,463 42723 425,285 11,830 71,801 0 0
# B 42525 416,677 22,708 474,769 42,723 596,970 11,830 72,492 0 1,220
L—7 AR A)IT—T KA AR
B = & % # = & % 5 = & % # = & %8 M= * %
RE R [ERREHRSD)
Sy |Bf @ 314
X E A & &t 0 0 0 0 0 0 0 0 0 314
T A (BEXEHER
vy B A-n-0v)
EEERSa2L
EEES 0 0 0 0 0 0 0 0 0 0
Z Dt EEH E R
Z DA —N—09)
ZDZ DM
ZDHhET 0 0 0 0 0 0 0 0 0 0
N ET 0 0 0 0 0 0 0 0 0 0
B & 218 437
I XK & & 0 0 0 0 0 218 0 0 0 437
#( F X ) 47 710
T— IR UVH/N— 684 494
O EIUEED) 0 0 0 0 0 0 0 0 0 0
2 it 0 684 0 710 0 218 0 494 0 751

18




=] 7 A hEBE TaET8 F &t XT B 4E 1B EL ET1~S8H T
= £ %8 #H = % Z8 # = % %8 #H = % %8 # = % %8
RE R [ERRERSD) 118,990] 1,109,558 174.9 217.7 887,422 6,799,012
2oy (B & 0 81,680 — 148.5 0 480,222
X E H & § 0 0 0 0 118,990] 1,191,238 174.9 210.9 887,422 7,279,234
T H B8 EHER 2 8,037 0.2 14.0 3,089 174,287
2oy | BXA-n-0y) 54 2,793 1080.0 92.5 275 19,828
BEFDih 220 40,983 56.7 49.1 1,703 394,770
EEES 0 0 0 0 276 51,813 16.6 36.1 5,067 588,885
FTOMEHELR 233 13,922 46.0 50.7 1,637 111,787
Z DA —n—-0yH 140 6,970 384 28.5 1,572 86,982
ZDh:ZF Dt 147 17,365 104.3 59.3 2,383 161,437
ZDAhET 0 0 0 0 520 38,257 51.3 471 5,592 360,206
N E 0 0 0 0 796 90,070 29.7 40.1 10,659 949,091
B & 624 1,130 0 222,659 — 475 0] 2757626
I X K & & 0 624 0 1,130 796 312,729 29.7 45.1 10,659 3,706,717
#( F X ) 20,337 59,751 77.8 83.8 187,996 550,043
T—ILRUVH/N— 207 0 3,228 — 35.6 0 55,883
B E(EVURED) 0 0 0 0 119,786] 1,199,628 169.4 163.3 898,081 7,748,103
s B 0 624 0 1,337 119,786] 1,566,946 169.4 117.1 898,081 11,591,877
*1 Bl °F [@1 2R L
B = & %
REH |ZER&EGERED) 169.4 147.0
Sv |B @ — 90.4
X E A & &t 169.4 141.1
T A BEXEHER 36.6 34.1
2oy |BBRXA-n-0v) 68.6 22.3
EEESA2LL 67.8 68.0
EEES 44.7 49.9
ZTOM-HEHELR 9.8 63.5
ZF DA —N-0v) 453 43.7
ZDM:Z D 54.2 32.2
ZDHhET 22.8 411
N ET 29.7 46.1
B & — 52.0
I X R & & 29.7 50.4
#( F X ) 75.3 75.1
T—ILRUVA/IN— - 50.0
O EIUEE) 160.5 115.9
o Hi 160.5 86.8
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